ohe RS9 ohE v tehd 227

H7]

5x+6>2x—6

D x>-4 @ x<-4 ® x>-3
@ x<-3 ® x>4



o
oo

® ©

f

=
\%
W v ©

=

ol
>

IA

o

i

3(x—1) = -2(x—-6)

® x>3



i

\m_mo

stofzt.

:’7_



o

AREA 3x-a>5x 9 H7bx<5 D W), a o & Fotolet,

5 S
=%



5. ol Aol 4ujolq 1S M Sk 1 5E
we} A oleld 248 HEA A s
b2

3 ulste] 3 & e 4
F A e a5

@1 @ 2 @ 3 @ 4 ® 5



S5t 9]
} 120cm ©]
ofshie | &

3F uko] J5hAg 20 o] Bt 717} 130cm , oY 9

o] "k 3bg A o] B 77} 125cm ©]AF &

w17 Patele



O s

@ 11 71¥

rlr
—

@
®

3000 Yo] 5o At} mwiF 3000 LA o
™

50000 Y2 |d7]

9 7H<4

12 71

=S
L.

® 10 714



8. AFA B, Col st —(2x% +7x) + (22 +9x—4) = Ax> + Bx+ C
d W, A+ B+ C 9 & F5toft.

D S
=%



FelS ™, 21 237t o]

S

ohe A2 )

9.

0 (209)+(+

@ (4+ 3x+2x%) — (-4 + 3x — 2x?)

® (3-3x-6x2)-3(2x% +2x - 3)

® -2x*(1-x)



15a% — 3ab B Sab + 4b>
3a 4b

10. a=-2, b=-3Q 1, o] 3F2-?

@ o @ 6 ® 12 @ -6 ® -12



11. A=x-y B=-2x+y Qo 3A-2B-A-{3B-(2A-B)}] =
ax+by ot a+b 9] g7

@ o @ 2 ® -2 @ 4 ® —4



12. o] 4 x o] 4 o] 2 S HFE = 1 S04 32 W Z19] 5w
27 o} 5 Ao el ALY

@® 4x+2<5(x-3) @ 4(x+2)<5(x-3)
® 4(x+2)>5(x-3) @ 4x+2>5x-3

® 4x+2<5(x-3)



13. 0<b<ad ], 5 F oA g= A

1 1 b
O =< ® %>
a b c ¢
® —2a<-2b @ 3a-1>3b-1

® a®>ab



® 2-3x>-7

@ x-3>0

® 2(x+1)=8

x+4<25

1

2

®



15. b F 25| o7k AR 2E 0, 44 ] 7 Fokofe,

3>-Tx+17, 2x—-3a <6x—2




16.

SHA A 12 A Al=g] 2o

500 Y7t -39t 300 Y] ¢EE T
5000 ¢ o|5}7}F ®a1, 500 DAte] S EZ FFE5 5 wol Ale 1
& kA Fotelet.

o, 500 YA SEE B A A

a Ct- 7H

wel rlo



17. 400 9 %] 3ok 250 © A2] AAE Fote] 10 F& AL g
A 7FAS 5000 4 oI5t oFAA 400 € A= 93E 7Heot Bol
At o ghek, 400 fRte] EE 2 A A S YT

@ 15% @ 16% ® 177 @ 18% ® 19%



18.

600 ¥ 2] A 2 450 A A2 B S-S sto] 9 7S AR, 1
%ol 4500 ¢ ©]4 5000 ¢ mIRte] HA| st AL S}, BEZOE 20
ol SHH A 2ha2 Hol 2 A A 2 Q=

=2 T 1»7\1_7]-()

@ 5 7 @ 6 7l @ 77 @ 8 7 ® 974



19.

o 7

i
i

[o141 1821 800 € ol & 4= = FHAE L= 1000 ¢ 2

of thgukEc] 7b4 AFA 18] 600 9 ol & % QIeka g
B 2] ol AH 9o th@utES] 71 Aol fel3tx]



20.

Aol ES A
qhotof 5jLt?
7128 a =719
A 12,0009 =
B 3,500¢ gk Irof 5009
10X ¥& o22E)| (104 23} A))

@© 243 oA @ 252 oA @ 26 oA
A ® 282 o]AF

@ 2721 0]

e}



21.

M 3230 54 Q= 2500 418 100 % ol4Fe] Sl Al 20%
g} 100 % wlRke] A7} 100 Bo) B RS
ABale Aol B T A9 B QL4 B ¥ ol el

> EEE ol 4t



of, o

g
=l A &5t
ol%geld






24. 3000 ¥ Sl= oM

ol Atelx gt A
H 30000 €
ol w2ta}e]

e ohd et ]t Folof 700 ¥ Sk H] P &
oA Z7HlE B 1200 ¥o] AH|7F £ 22
o]5}e] v L o 2 AlE] Fu|E 75

™

& g ol Yol
o, ol 2 S0l $e 4 Uk

= & SleA] FetedEt
o e



25. A o
4 obo]] 9l 1
H]-2-0] 1600 94:] I;Huzﬂ]_]d 3k Aol 500 Lol ;}Dm;i’é‘ HAE g
7hel A %EE‘—/\]@F ’_]%?—];g of[ A Al= A o] ;] ]l(l):;q—]_ H 20
= =2 FLatoda} -~ S 25t P

S EE.

)
Y



